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Name:  _____________________________

Wave Behavior and Sound Test
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Directions: Unless otherwise stated, write the correct letter in the blank in front of the question number.

1.  Circle the trombone slide position that should produce the highest pitch.

______ 2. The trombone you circled will have a _______ frequency?

A.  higher

B. lower

______ 3. The trombone you circled will have a _______ wavelength?

A. shorter
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‘The natural frequency of a trombone can be modified by
changjng the length of the air column inside the metal tube.



B. longer

______4.  Which bottle in the diagram above will have the highest pitch.

______5.  Which answer below is an example of a standing wave?

A.  a trumpet

B.  the ocean

C.  the electromagnetic spectrum

D.  an earthquake/seismic wave 
______6.  How do you tune a woodwind instrument?

A.  change the length of the instrument’s tubing.

B.  use a different reference pitch

C. have someone else play the instrument and compare

D. play louder or softer

______7.  A louder sound has a ____________________.

A.  shorter wavelength

B.  smaller amplitude

C.  longer wavelength

D.  higher amplitude

______8.  A lower note has a __________________.

A.  higher amplitude

B.  shorter wavelength

C.  longer wavelength

D.  lower amplitude

______9.  Before crashing on the shore, an ocean wave is an example of a(n) _____________ wave.

A. electromagnetic

B. transverse

C. standing

D. longitudinal/compression

______10.  A sound wave is an example of a _____________ wave.

A.  Compression

B.  Electromagnetic

C.  Standing 

D.  Transverse 

______11.  In the movie Star Wars (the best movie ever made despite these misconceptions), we hear the lasers, explosions, and engines of the starships in space battles.  Why is this impossible?

A.    There is no air in space for the wave to travel through.

B.    George Lucas used the wrong film format.

C.    The starships don't get hot enough.

D. Luke never became a Jedi

E. Yoda didn’t use the force properly

F. This is actually possible.

______12.  While hiking through a canyon, you let out a yell.  An echo is heard off a nearby canyon wall 343 meters away. The wave takes 1 second to reach the canyon.  How long before you hear the echo?

A.  2 seconds

B.  1.5 second  

C.  1 seconds

D.  0.5 seconds

______13. Two tuning forks with frequencies 440 Hz and 437 Hz are played together.  What is the Beating Frequency? (Note:  You can calculate the beating frequency of two frequencies easily.  The beating frequency is simply found by subtracting the two different frequencies.)

A.  3 Hz

B.  877 Hz

C.  7 Hz

D.  338.5 Hz

_____14. What type of energy conversion is occurring when you hear sounds?

A.  mechanical to electrical

B.  nuclear to electrical

C.  chemical to mechanical

D.  sound to thought

______15. .  How is the Electromagnetic spectrum organized?

A. by wavelength

B. by atomic structure

C. by valence electrons

D. by amplitude

______16. The Electromagnetic Spectrum can best be described as _______.

A.  chemical energy

B.  radiant energy

C.  electrical energy

D.  nuclear energy

